Note: the 2nd test will be composed by 51 TF questions, 5 or 6  about each lecture.

Tell whether the following statements are T or F

L12: International movements

1. Consider two countries, A and B. A massive shift of factories from A to B tends to increase profits in country A.
L13 Economic Integration

2. A Free Trade Area may lead the participating countries to replace the imports from countries with lower unit costs by imports from countries with higher unit costs..

3. A Free Trade Area may lead the consumers of the participating countries to pay higher prices for some of the goods that they import.
4. A Free Trade Area between the EU and the USA will soon be created. Therefore, it is possible that Portugal will divert its imports of some goods from the EU produced at lower unit costs to goods produced in the USA at higher unit costs.

L14-L16: Monetary unions
5. An initial reduction in the demand for consumption goods tends to bring about new reductions in the demand for consumption goods but not reductions in the demand for investment goods.

6. Imagine that Portugal is not in the Eurozone, and that it is initially at full-employment and with trade balance equilibrium. In the aftermath of a reduction in the domestic demand, the Central Bank cuts interest rates to zero, but Portugal doesn´t return to full-employment.In this case, Portugal may carry out an expansionary fiscal policy financed by money creation in order to return to full-employment in the following period. 

7.  Imagine that Portugal is not in the Eurozone, and that it is initially at full-employment and with trade balance equilibrium. In the aftermath of a big reduction in the domestic demand, Portugal can use monetary policy to return to full-employment.
8. Imagine that Portugal is in the Eurozone, and that it is initially at full-employment and with trade balance equilibrium. In the aftermath of a big reduction in exports, Portugal cannot use monetary policy to return to full-employment. But it can use FP to achieve that objective.
L17: trade imbalances in the Eurozone
9. In the first decade of the 21st century, the new and increasing competition from China and Eastern European countries led to increasing trade deficits for the Eurozone as a whole.

10. The FP imposed by Troika on the Portuguese government led to declines in the Portuguese budget deficit but not in the Portuguese trade deficit.

L18:  The Doctrine of the Immaculate Transfer

11. A decline in DD leads to a decline in imports but not to a decline in AD.

12. The Eurozone is the world. Starting from a trade deficit in the South and a trade surplus in the North, a decline in DD by the South accompanied by an increase in DD by the North of equal magnitude will eliminate the imbalances. Explain the circumstances in which this is true and in which this is false.
L19: The ECB response to the sovereign debt crisis
13. When the price of a bond falls in the secondary market, the interest rate paid by that bond falls as well.

14. Explain the three reasons why investors sold Portuguese government bolds in the months starting in May 2011.
L20: Federalism + the effect of a subsidy to a domestic industry that competes with imports
15. What is meant by fiscal federalism?

16. In which way does federalism mitigates the effects of demand shocks on a country’s level of output.
17. A subsidy for each unit produced by the firms of an industry which competes with imports benefits domestic producers at the expense of the government and of domestic consumers.
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